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(26) More Straight Line 
Graphs  

  

(1) The lines with equation 𝑦 = 2𝑥 + 1 and        
4𝑥 − 𝑦 − 8 = 0 meet at the point (𝑎, 𝑏). Find the 
values of 𝑎 and 𝑏. 

 

 

 

 

 

(2) The equation of a straight line is given as      
5𝑥 + 10𝑦 = 20. Write the equation of the line in the 
form 𝑦 = 𝑚𝑥 + 𝑐 

 

 

 

 

(3) 𝐿ଵ has equation 6𝑥 − 8𝑦 + 8 = 0. Find where 
the line cuts the coordinate axes. 

 

 

  

(1) 𝐿ଵ has equation 𝑦 = 𝑝𝑥 − 8 and 𝐿ଶ has equation 
𝑦 = 5𝑥 − 12. 𝐿ଵ and 𝐿ଶ intersect at the point 
(−4, 𝑞). 

Find the values of the constants 𝑝 and 𝑞. 

 

 

(2) Find the equation of line shown below in the 
form 𝑎𝑥 + 𝑏𝑦 + 𝑐 = 0 

 

 

 

 

 

(3) 𝑓(𝑥) = 2𝑥 + 1 

Find where the graph of 𝑦 = 𝑓(𝑥 − 3) crosses the 𝑥 
axis. 

 

 

  

(1) The line with equation 𝑎𝑥 + 𝑏𝑦 = 𝑐 crosses the 
coordinate axes at 𝐴 and 𝐵. Show that the area of 
the triangle 𝐴𝑂𝐵 where 𝑂 is the origin can be 

written as 
௖మ

ଶ௔௕
 

 

 

 

 

(2) The line with equation 𝑝𝑥 + 𝑞𝑦 = 𝑟 and the line 
with equation 𝑦 = 𝑚𝑥 + 𝑐 intersect on the 𝑦 axis. 
Show that 𝑟 = 𝑐𝑞 

 

 

 

 

 

(3) A line with gradient 
ିଶ

ଷ
 passes through the points 

(𝑝, 0) and (0, 𝑞) where 𝑝 and 𝑞 integers. Find the 
least possible positives values of 𝑝 and 𝑞. 

 

 

 

 


